a(pp - X) x B(X-HH-yybb) [fb]

35.9 fo (13 TeV)

CMS
— T T
102 pp X HHayybb(spln 0)
F Bulk radion
[ e R =2TeV
----- Ap=3TeV

95% CL upper limits =
—e— Observed
---e--- Expected
[ Expected + 1 std. deviation

Expected + 2 std. deviation _|

PSSR ER R R

400 500

500 700 800 900
Resonance Mass [GeV]

a(pp - X) x B(X — HH- yybb) [fb]

10

35.9 fb™ (13 TeV)

CMS

— T T T T T
pp — X —HH - yybb (spin-2)

F Bulk KK-graviton

I K/My = 0.5

Foo e K/Mp = 1.0

95% CL upper limits =
—e— Observed
---e--- Expected
[ Expected = 1 std. deviation

Expected + 2 std. deviation _|

300 400 500

700 800 900
Resonance Mass [GeV]

500



